CAB—STD—-081.DWG 13/08/03

CAD FILE —

@
e
I
~ . ®
-
v
ENLARGED VIEW
(VIEWED FROM TRAFFIC SIDE)
TYPICAL DETAIL FOR POSTS 3, 4, 5 & 6
BILL OF MATERIALS
No. |PART No. DESCRIPTION QTY
1 | cr4e8G STEEL TUBE 2
2 C1796G STEEL YIELDING POST 4
3 C1463G STEEL TUBE INSERT 2
4 C1465 NOKOUT 2
5 C1462G TOP POST 1 & 2 2
6 C1422MG | 'C’' BLOCKING PIECE S
7 | C1497G [ SHELF ANGLE 5
8 | Cl434c BULL NOSE 1
9 C1435G DIAPHRAGM PLATE 2
10 | C1342G W—BEAM GUARDRAIL MELT END 6m RADII 1
11 | C1344G W—BEAM GUARDRAIL 40m RADII 1
12 | C1474G SOIL PLATE 2
13 | C14696G STRUT & YOKE ASSEMBLY 1
14 | C14796G BEARING PLATE 1
15 c1162 CABLE ASSEMBLY 1
6 | C1168G ANCHOR PLATE !
17 C1616 M16 x 240LG BOLT & NUT — HEX HD 2
18 | C1492 M20 x 200LG BOLT — HEX HD 4
19 C1505 M16 x 50LG POST BOLT — MUSHROOM HD 2
20 C1615 M16 x 180LG BOLT & NUT — HEX HD 2
21 C1550 M16 x 32LG SPLICE BOLT — MUSHROOM HD 34
29 | C1520 M16 OVERSIZE NUT 4
23 C1530 M16 ROUND WASHER 8
ENLARGED VIEW 24 | cie12 M20 ROUND WASHER 4
(VIEWED FROM CURB SIDE)
TYPICAL DETAIL FOR POSTS 3, 4, 5 & 6 | 25 | C1614 M20 STANDARD NUT 4
26 C1505 M16 x 50LG POST BOLT — MUSHROOM HD 5
27 C1525 M16 X 30LG HEX HD BOLT/NUT 10
PROJECT DATE  13/08/09 | INGAL CIVIL PRODUCTS
C REFERENCE No.
[eAs v INGAL Civil Products S.A MELT TERMINAL DRAWN .5 °
|5 57-65 Airds Road, Minto, NSW, 2566 Australia STEEL YIELDING TERMINAL POST SYSTEM DESIGNED, ¢ p
Tl S S Pl Gl S et el GReevT.C GRAWING N
® S} c Industrial Galvanizers Corporatlon y 0.
g This drowing Is the subject of COPYRIGHT. No part of It moy ke used, reproduced W‘TH STEEL BLOCK MATER‘ALAS SHOWN CAB STD O8w
0 INITIAL 1SSUE VS [13/08/09 JUAID UW@RNI or copied by any means or in any form without the prior permission of the owner. TITLE FINISH H.D GALV - -
Rev. Description Chkd] Date / ‘ ISOMETRIC ASSEMBLY DETAILS SCALE N.T.S (A3) REV.0




